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Question 1.Select the related word/letters/numbers from the given alternatives:

& I farehenl & & Hafeerd Qree/ 3ieR/Ean 1 v
Jailor : Prison :: Curator : ?

SIeR @ Sief 11 FPYE: ?
Options:

1) Cell

Eary

2) Museum

T

3) Warden

TETH

4) Cure

gellet

Correct Answer: Museum
T

Candidate Answer: [ NOT ANSWERED ]

Question 2.Select the related word/letters/numbers from the given alternatives:

3 T fashodl / & Helfeeret Yec) 37&RY/HEdr 1 giav|

FED : IHG :: ?: ?

Options:
1) ACB : GUV

2) TSR : WVU
3) VUK : LMO

4) DEF : IGH
Correct Answer: TSR : WVU
Candidate Answer: TSR : WVU

Question 3.Select the related word/letters/numbers from the given alternatives:

2 13 faeodl & @ Hafeere ereey starl/dear # gfav|
9:25::49:7?

Options:

1) 36

2) 54

3) 64

4) 81
Correct Answer: 81
Candidate Answer: 81

Question 4.

For the following questions

Find the odd word/letters/number from the given alternatives.

U 1w fashodl & & Tawe ereey 316 /dedr gaA i
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Options:
1) Teacher
3G

2) Lawyer
CEary

3) Doctor
EiCray

4) Manager
EChicy

Correct Answer: Manager
ECricy

Candidate Answer: Manager
EEpED

Question 5.

For the following questions
Find the odd word/letters/number from the given alternatives.
56 9T # feu 10 faehedl & & fawet wea/ 3ieR/aen Z7d g |

Options:
1) DEB

2) RTP
3) HIF

4) NOL
Correct Answer: RTP
Candidate Answer: RTP

Question 6.

For the following questions

Find the odd word/letters/number pair from the given alternatives.

few 10 faemot & & fawa eree) 31er/wean g7a el |

Options:
1)6, 612

2)5,521
3)4,46

4) 7,543
Correct Answer: 7, 543
Candidate Answer: 7, 543

Question 7.Arrange the following words as per order in the dictionary.
TAFATATE 2rsel 1 ereeehiel & foT IR el & 378N AT

1. Defect 2.Defence 3.Deerstalker 4.Defensive

Options:

1)2,3,1,4

2)1,3,2,4

3)4,3,1,2

4)3,1,2, 4
Correct Answer: 3,1, 2, 4
Candidate Answer: 3, 1, 2, 4

Question 8.A series is given, with one term missing. Choose the correct alternative from the given ones that will complete the series.
& 918 e H Th v o &1 foU 1T fashen! 7 & WEY fasheq AT Si s[@ren S g1 |

AZ,CX,FU,?



Options:
1) IR

2) IV
3)1Q

4) KP
Correct Answer: JQ
Candidate Answer: JQ

Question 9.A series is given, with one term missing. Choose the correct alternative from the given ones that will complete the series.

& 918 e H Th ve o &1 U 1T fashedt 7 & WEY fasheq AT Si s@ren S g1 |
5,10,30,7?,600, 3600

Options:

1) 120

2) 100

3)90

4) 60
Correct Answer: 120
Candidate Answer: 120

Question 10.A person while buying a dress on sale spends Rs. 45 and saves Rs. 5, what is the percentage of his savings?

U fFd ‘Al & g€ TAST FHT Rs. 45 T AT ¢ 3T Rs. 5 T 9T AT &1 3G s7ac 1 Tfaerd F=ar g ?

Options:

1) 5%

2) 10%

3) 15%

4) 20%

Correct Answer: 10%
Candidate Answer: 10%

Question 11.2 litre of pure alcohol is added to 6 litre, 40% alcohol solution. The percentage of water in the solution is

2 . € Veahlgiel I 6 olt., 40% Veahlgicr Eitel ¥ THCTAT ST & | Eel & 3ot bl GfAerd adizd ?

Options:

1) 65%

2) 45%

3) 55%

4) 60%

Correct Answer: 45%

Candidate Answer: [ NOT ANSWERED ]

Question 12.From the given alternative words, select the word which can be formed using the letters of the given word:
AT fashed # A g8 2ee AT it feT 1T 2se; & IHERT T T Tk TeATAT S Fehell &

COMMUNICATION

Options:

1) AMMUNITION

2) MONITOR

3) COUNTRY

4) UNIFICATION
Correct Answer: AMMUNITION
Candidate Answer: AMMUNITION

Question 13.If 'HARBOUR' is written as 'IBSCPVS', how is 'HABITAT' written in that code?

fe; 'HARBOUR' &I 'IBSCPVS' & & & for@r STar &, af 'HABITAT' & 38T i & &ha forar smoem ?

Options:
1) GZAHSZS

2) IBCJUBU
3) IBAHSZS

4) IBCIBUU
Correct Answer: IBCJUBU
Candidate Answer: IBCIBUU



Question 14.If '-' means X', 'X' means '+', '+' means '+' and '+' means '-', then what will be the value of 40 x 12 + 3-6 + 60 = ?

gfe - T MR 'K A BT, XT3 '+ @Y, "+ I3 '+ AET 3R FT3MT - &, AT 40 x 12 + 3 - 6 =+ 60 = 7 Al FAT 819 ?
Options:

1)4

2)7

3)16

4) 44
Correct Answer: 4
Candidate Answer: 4

Question 15.1f 25 +5+2=40,and35+5+2=60,then45+5+2=7?

TG 25+5+2=40,3R35+5+2=60,dr45+5+2="?
Options:

1) 90

2) 70

3) 60

4) 80
Correct Answer: 80
Candidate Answer: 80

Question 16.Select the missing numbers from the given alternatives

U a3 faehedt # & e FEar giv)

8 21 34
27 ? 53

Options:
1) 35

2) 40
3)17

4) 23
Correct Answer: 40
Candidate Answer: 40

Question 17.A driver left his village and drove North for 20 km after which he stopped for breakfast. Then he turned left and drove another 30 km, when he stopped
for lunch. After some rest, he again turned left and drove 20 km before stopping for evening tea. Once more he turned left and drove 30 km to reach the town where
he had supper. After evening tea, in which direction did he drive?

Ueh ZIga 37941 alid & <rell 3R 20 foh.a. 3eax Y 3R Sl & de; STerdTet o foIw wehr| it @ aTe 733 9727 31k 30 foh. o, 3R et & a1 sfioiat & fow &) e 3R fasme
& o1& 3 T STT 731 3R A A T S FAT Tehod A T 20 6.7, 3 Tell| € T TR Y S1C 7737 31X 30 6.0, oy 30 e & Ig 17 Sfgl 384 M-8 o |
MTH S T & 916 g Tohd &R 7 Telr Ar?

Options:

1) West

gf¥ge

2) East

kgl

3) North

3R

4) South

gfayor

Correct Answer: East

BC)

Candidate Answer: North
3\‘(_"1



Question 18.Consider the given statement/s to be true and decide which of the given conclusions/assumptions can definitely be drawn from the given statement.
Statements: 1. Some managers are young.

2. All boys are young.

Conclusions: I. Some boys are managers.

II. Some managers are boys.

AR IR & U IT & ey f&F 713 §, foraeh 3T &Y foseh/Agang, 1 3R 11 errer 7 &1 3m9en! faaR aeeTT § % aoFaed Tcg § I8 98 T d: o a2 &
e Tl 1A 811 3MIeh! v et § foF T 310 aerdes # & fia-a1 ARad &7 3 T fAsaws/aAegar fAerer s ahar g ?
FYA : 1. - TS YL gaT

2. - Tl w5k gar €

Ay I- o d5% JauF £

1I- T TatH 5 8|

Options:

1) Only conclusion I follows

el Ty I @@ R

2) Only conclusion II follows

Faol sy 11 T &1

3) Neither conclusion I nor conclusion II follows

o oy [ TEr & 3R o sy 11

4) Both conclusion I and conclusion II follow

foreeny I 3 sy 11 @ @Y &1

Correct Answer: Neither conclusion I nor conclusion II follows

o Ty [ T8 § 3R 7 ey 11

Candidate Answer: Neither conclusion I nor conclusion II follows

o sy [ T8 & 3R & sy 11

Question 19.How many triangles are there in the given figure?

forw oy v 3 ey Pager 8 2

Options:
1) 10

2)13
3)15

4) 16
Correct Answer: 15
Candidate Answer: 16

Question 20.Which of the following diagrams represent the relationship among males, fathers, advocates ?

fFrfaf@a & @ Fi & 3@ qwi, A i Tsaleet & daer gl 87



Options:
1)

.

]
O
lf"\
/'_\l
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w
=

o
H

Correct Answer:

.

Candidate Answer:

Question 21.Which answer figure will complete the pattern in the question figure?

- SecX 3TpTer et MR & et ol qur el 2

P19/P
g18|%
&2 | &




Options:
1)

Correct Answer:

Candidate Answer:

Question 22.From the given answer figures, select the one in which the question figure is hidden/embedded

& TS 3ol AP H F 30 3T A &1 I e vee smapfa Ak 81




Options:
1)

a
oA

4)

Candida;te Answer:

Question 23.A piece of paper is folded and cut as shown below in the question figures. From the given answer figures, indicate how it will appear when opened.

oA et it 3 WM 3R FeTet 30t ASHT e TAT Wk F A1 TE e Sear IaHfer St s &am 2

’
"" T
¥

TTTTTRE
-

mmmm———p
#

b
)




Options:
1)

%
T
=

Correct Answer:

Candidate Answer:

B

Question 24.If a mirror is placed on the line MN, then which of the answer figures is the right image of the given figure?

I T T T MN T@T O T@T S A & 31 Sl ISt 7 W FioT-20 I1Hfer FeaT Iepfer o wgr wfafasar gt 2

M

IAGMUM

Options:

1) ABMUMI
2) BMUMIA
3) MUMIAB
4) MUMBAI

Correct Answer: MUMBAL
Candidate Answer: MUMBAI



Question 25.1In the question, a word is represented by only one set of numbers as given in any one of the alternatives. The sets of numbers given in the alternatives
are represented by two classes of alphabets as in two matrices given below. The columns and rows of Matrix I are numbered from 0 to 4 and that of Matrix II are
numbered from 5 to 9. A letter from these matrices can be represented first by its row and next by its column, e.g., L can be represented by 12,24, etc., and 'R' can
be represented by 55, 67, etc.

Similarly you have to identify the set for the word 'TONE'

At weet # Aot 3 RoT a1v Fear-wg, 3w & & a91t ganT T 97T §, St fo ofrer few a1w 2 smeggt # 81 3megp | & Sam iR dfaa fraear o a4 aw &
S &, 3T ATSYG 11 & 5 F 9 e, 57 HTSYRT ¥ U 38R H1 Tgel SHDT Giared 3N a6 7 FTo97 TEAT SANT SRIFAT ST FehelT | 3ET60T & forw 'L 7 12, 24 3T g arifar
ST HReT § TUT 'R ' T 55, 67 HTTe; G@RT &R 31T Hehel &1 $# g & 3Tl T g 21 'TONE' & AT &g Y qgrelet=ir &l

MATRIX | MATRIX 11

0 1 2 3 4 5 6 7 8 9
O L|IE|O|S |C /5 RKUNT
1S |C|L)E (O 6 N TR K U
2 |E |Q8 |E | L 7 KUNTR
3|E|L|E| QS 8 T R KU N
4 OS5 |C| L|E 9 UNT R K

Options:

1)85,40,58,75
2)66,21,77,56
3)97,33, 65,44

4)78,57,89, 32
Correct Answer: 97,33, 65, 44
Candidate Answer: 97, 33, 65, 44

Question 26.Which of the following taxes is levied by the State Government only?

AT 7 Plerar X Fhael ToT THR GIRT ST STl & ?
Options:

1) Wealth tax

Hafea &

2) Entertainment tax

ARSI X

3) Income tax

3T Y

4) Gift tax

3YgR h

Correct Answer: Entertainment tax
ARSI X

Candidate Answer: Entertainment tax
HAARSIT I

Question 27.HDI is an aggregate measure of progress in which of the three dimensions?

T, E. 3. P T e A AR wAE § ?
Options:

1) Health, Education, Income

Fareey, R, 3mHesr

2) Food Security, Employment, Income

TieF GR&T, UsHIR, e

3) Agriculture, Industry, Services

4) Height, Weight, Colour

Correct Answer: Health, Education, Income
Tareey, R, 3mHesr

Candidate Answer: Height, Weight, Colour

Question 28.The Working Committee of National Congress sanctioned the resolution named 'Quit India' at

TSERT I FIAHRY FIAA 7 "SR DI " ATHE Heelolel T IeTHlceT el [l UT?



Options:

1) Wardha

gt

2) Nagpur

AT

3) Mumbai

s

4) Delhi

e

Correct Answer: Wardha

gt
Candidate Answer: [ NOT ANSWERED ]

Question 29.Preservation of historical articles is done in science of

W AeTRs oRal ST TRET0T faaeT Y R Aarer & edsia e &7
Options:

1) Iconography

gfa#r o

2) Numismatic

T

3) Museology

G

4) Epigraphy

R

Correct Answer: Museology

Candidate Answer: [ NOT ANSWERED ]

Question 30."Alfalfa" is the name of a

37T Teh JehiX ol HT A B
Options:

1) Mineral

wfaer

2) Tribe

STl

3) Grass

o

4) Town

A

Correct Answer: Grass
u|

Candidate Answer: [ NOT ANSWERED ]

Question 31.The chemical that is used to ripen mangoes is

3 TAIA T AT SdATSU ST 1TH T ThleT o I HATAT ¢
Options:

1) Calcium sulphide

FHiovrH Towzs

2) Calcium carbide

FHiRIH FETEg

3) Calcium carbonate

FiowTd FEiae

4) Calcium chloride

FHirIH FeRss

Correct Answer: Calcium carbide
FioH FeTgs

Candidate Answer: Calcium sulphide
FHicrrrs gewzs

Question 32.The term 'Smasher' is associated with which sport?

" ERR" g ATeTld A A ohH el & AR ST g3 & ?



Options:

1) Hockey

gl

2) Boxing

Sfergar

3) Volley Ball

EICICI]

4) Cricket

forahe

Correct Answer: Volley Ball
EICIEIC)

Candidate Answer: Volley Ball
EICIEIC)

Question 33. involves traversing the entire file system, marking everything that can be accessed.

faf@a & & e, Gﬁsfrqﬂgﬂ/qﬂmumﬁmmm%wﬂﬁmgm X B FHFEH | I[oRaAT ISl §?

Options:

1) Index pointer

2) Garbage collection

FHTRT Teh FhI0T

3) File system

TS RAEeH

4) Stack pointer

e dis

Correct Answer: Garbage collection

TR TR IRIOT
Candidate Answer: [ NOT ANSWERED ]

Question 34.Nylon threads are made of

ARGl ST faherd) F=1T BT &7
Options:

1) Polyester polymer

ITeNTEeR UleileR

2) Polyamide polymer

YTeTATSS TTele

3) Polyvinyl polymer
CICICOIECRICI 0y

4) Polysaccharide

IleRITES

Correct Answer: Polyamide polymer
YToTARS qTeeE

Candidate Answer: Polyester polymer
YTelUTeR Greller

Question 35.The longest railway line in the world connects

2T T T & I ST ot 2ERT T ST & ?
Options:

1) New York and Seattle

gare g fRvea

2) Leningrad and Vladivostok

Q=TS qUT cefeai e

3) Trivandrum and Guwahati

TR T ETErer

4) Perth and Sydney

¢ gar fasst

Correct Answer: Leningrad and Vladivostok

AfAAATS TAT celfearedisn
Candidate Answer: [ NOT ANSWERED ]

Question 36.How many Constitutional Amendments to the Constitution of India have been made so far?

N o HIAUTeT # 319 ofeh fohelel TR TATC ST Yoh & ?



Options:
1) 122

2) 121
3) 120

4) 119
Correct Answer: 122
Candidate Answer: [ NOT ANSWERED ]

Question 37.The Chairman of the National Disaster Management Authority (NDMA) is

TSERT 3TIET FeetieT UITASHIUT ST ETET Fhie § ?
Options:

1) National Security Advisor

TSERT FET HAGHR

2) Prime Minister of India

AR o T 7T

3) Chief of DRDO

31333, & 3eTeT

4) Home Minister of India

T o T[E HA

Correct Answer: Prime Minister of India
AR & JT=T 7

Candidate Answer: Prime Minister of India
AR & TEIT=T FAT

Question 38.When the offices of the President and Vice-President fall vacant simultaneously, who acts as President?

S Tsgufa q2UT 39-Isgufa & Ug W) His 8 FRRG o 81 9 3oTeh Rerd T IR "Tegufa” & & & ST FRIT g9 ?
Options:

1) Prime Minister of India

HRA & T AT

2) The Chief Justice of India

R T HTY =ITTERT

3) The Speaker of Lok Sabha

haaT ETeT

4) The Comptroller and Auditor General of India
AR I fedFe Ud Agrer@r IreTeh

Correct Answer: The Chief Justice of India
IR T HEY =TT

Candidate Answer: The Chief Justice of India
IR T HEY =TT

Question 39.Goitre is caused by the deficiency of

T ATHE T FRTRT AT o HROT 3cTel BT § ?
Options:

1) Zinc

IEED

2) Calcium

FHicerra

3) Iodine

TS

4) Chlorine

FARNT

Correct Answer: Iodine

IR

Candidate Answer: Iodine

TR

Question 40.For photoelectric effect to take place, the metal used as the cathode should have

GRTRI-dET T T Sclea] el o forw Fore e s gater eits it oe & 3 S § 3



Options:

1) high melting point

3T AT glelT AT

2) low melting point

T TelstTeh BT aTgy

3) Low work function

foraT fohamiierar gier wnfge

4) low resistance

o=t wfaRierssar

Correct Answer: Low work function

e forameiierar gy arfew
Candidate Answer: [ NOT ANSWERED ]

Question 41.The Speaker of the Lok Sabha can be removed from his office by

FREHT & TEAET T 36 UG H ThEsh GIRT GerIT I Fhell § ?
Options:

1) The President

g

2) The Prime Minister

TENAFAT

3) a resolution passed by both Houses of Parliament

HHE & Gl Fea1T GaRT IR SEdTd 3 GaRT

4) a resolution passed by the Lok Sabha

NREHT SaRT TR IEdTd GaRT

Correct Answer: a resolution passed by the Lok Sabha
SRET SERT ITR J&Ta GaRT

Candidate Answer: a resolution passed by the Lok Sabha

NRHHT ST IR Tl SaRT

Question 42.What does Section 124A of Indian Penal Code deal with?

SR &3 HigeT & ITede 124 A & Jfecidic 1 3T g ?

Options:

1) Atrocity against women

Afgem3it & T&ed 3camar

2) Sedition

T

3) Crime for demanding dowry

TR T AT § T 39T

4) Atrocity against SC / ST

3G SAe/ e Serellicl & Fid 3edrar
Correct Answer: Sedition

TSI
Candidate Answer: [ NOT ANSWERED ]

Question 43.Which instrument is used for photographing the Sun?

T Y BIRATHT & T 38 3uetor & gier iR Smar g ?

Options:

1) Galvanometer
egaier

2) Potentiometer
TR

3) Spectrophotometer

HFgmieeT

4) Spectroheliograph

Hergr Siferarems

Correct Answer: Spectroheliograph
Hergr Siferarams

Candidate Answer: Spectroheliograph

e fiferans

Question 44.Which country won 2016 Men's Hockey Champions Trophy ?

a¥ 2016 T gEY glhr ATPTTATIT SIbT forar der o Sirelt 2



Options:
1) India
ART

2) Germany
SHA

3) Belgium
e

4) Australia
SRR
Correct Answer: Australia
SRR

Candidate Answer: [ NOT ANSWERED ]

Question 45.Which of the following countries is not a member of G-8?

rfaf@d & I Hlaar g2r -8 T T 18T §?2
Options:

1) USA

J.UHET.

2) UK

&,

3) Germany

SHA

4) Russia

g

Correct Answer: Russia
g

Candidate Answer: [ NOT ANSWERED ]

Question 46.The main protein found in milk is

U H UIT STaTe HET NéT Hlaar § ?
Options:

1) Albumin

g AT

2) Globulin

Rﬂaﬁm

3) Globin

ECice)

4) Casein

T

Correct Answer: Casein

FeT
Candidate Answer: [ NOT ANSWERED ]

Question 47.Which organ gets affected in Weil's disease?

e 9T & ahleT AT 397 TN giar &7?
Options:

1) Liver

ElEry

2) Lung

T

3) Heart

&

4) Kidney

foreaty

Correct Answer: Kidney
forsstT

Candidate Answer: [ NOT ANSWERED ]

Question 48.Which of the following was the Official slogan for the 2016 Rio Olympic and Para Olympic Games?

fafEd # Fiaar e arT av 2016 & N7 3Mefte qur $-7 3efs g & fov @r = g?



Options:

1) Welcome Home
JolhA g

2) A New World

T g &l

3) Love & Save Nature
d Tes §q AR

4) Inspire a Generation
SEEIRR T STeiXeled

Correct Answer: A New World
T &S

Candidate Answer: A New World
T g &S

Question 49.The Daily Weather Map of India is prepared and printed at,

HRA & "Sf AGH AATT" FEl IR 277 &T (i) Sarg ?
Options:

1) Kolkata

HITHIAT

2) Mumbai

s

3) New Delhi

T fee

4) Pune

qor

9
Correct Answer: Pune

oy

2

Candidate Answer: [ NOT ANSWERED ]

Question 50.The capital of the Mauryan Kingdom was located at

A g $r Teten wet Ry & ?
Options:

1) Pataliputra

arefagT

2) Vaishali

emelr

3) Lumbini

Y

4) Gaya

Iar

Correct Answer: Pataliputra
greforgT

Candidate Answer: Lumbini
CiE=Cil

)

Question 51.A canteen requires 56 kgs of rice for seven days . The quantity of rice required for the months of April and May together is

Tl &wEieT 1 7 et 3 Tow 56 Tora, raret Y 3aerendT §1 38 318el 31X #S H1E o AT felent oot fohctat f36. 31, =Tarer &1 3raregehall g1 ?
Options:

1) 468 kg

468 T,

2) 488 kg

488 for.am.

3) 498 kg

498 k.3,

4) 508 kg

508 f.am.

Correct Answer: 488 kg
488 for.am.

Candidate Answer: 488 kg
488 for.amm.

Question 52.A shopkeeper earns a profit of 15% after selling a book at 20% discount on the printed price . The ratio of the cost price and printed price of the book is

T Y& & 3Hfhd Hed WX 20% T S U U GHEICR ST 15% 1 o BT & T o 7 7o 3N 3T 7T & 3edTel Jasd ?



Options:

1) 20:23

2) 23:20

3) 16:23

4) 23:16

Correct Answer: 16:23
Candidate Answer: 16:23

Question 53.A car travels 80 km in 2 hours and a train travels 180 km in 3 hours . The ratio ofspeed of the car to the train is

Teh R 2 T H 80 13,7, 1 T YAl & 3 Teh To@meT 3 10 # 180 5.2, 1 AT T &1 TR T YeHIET I Tl o1 341 F4T & ?

Options:
1) 2:3

2)3:2
3) 3:4

4) 4:3
Correct Answer: 2:3
Candidate Answer: 2:3

Question 54.A shopkeeper offers 2.5% discount on cash purchases . What cash amount would Rohit pay for a cycle , the marked price of which is — 3600 ?

Teh GehIeIE w1ehe; TG I 2.5% T e &l 8| Ueh Wsfehel, Toraehr 3ifehet #{er 3600 (1 &, T Tlieat & forw AT bl fohctair TR 7 $3TeTler et grar ?

Options:

1) Rs. 3490
2) Rs. 3500
3) Rs. 3510
4) Rs. 3520

Correct Answer: Rs. 3510
Candidate Answer: Rs. 3510

Question 55.Due to a price hike of 20% , 4 kg less sugar is available for [1 120 . What is the initial price per kg of sugar ?

AT BT HHT H 20% T i gt T 120 T H 4 6.3, =elt haf Tl &1 =l bt iy fohamm. TRIFSen o Far a1 ?
Options:

1) 05/ kg

75/ fam.

2) 04 /kg

0 4/ faam.

3) 116 /kg

76/ fam.

4)(155/kg

0 5.5 / foam.

Correct Answer: (1 5/ kg
0 5/ T,

Candidate Answer: [ 6 /kg
6/ T,

Question 56.A man walks 1 km on 1st day, 2 km on 2nd day , 3 km on 3rd day and so on . The total distance the man covers in 10 days is

T Ofad Ugel et 1 .3, Torar §, g oo 2 R Terar &, e feeT 3 fon.afn. retaT € 3R 3380 9ahR 31meT o TrofelT BT €1 9amsT % 10 e A a8 rash g
FEM

Options:

1) 40 km

40 5.

2) 50 Km

50 fe.a.

3) 55 Km

55 fon.a .

4) 58 Km

58 fh..

Correct Answer: 55 Km
55 for.#.

Candidate Answer: 55 Km
55 foh.3.

Question 57.The rate of simple interest for which a sum of money becomes 5 times in 8 years is

TEIROT SATST &1 T e 7T DIV ToIE U 1 UwIRr 8 a9 H 5 AT &1 AT & ?



Options:

1) 30%

2) 40%

3) 50%

4) 55%

Correct Answer: 50%
Candidate Answer: 50%

Question 58.If a2+ b? +c2 = 83 and a + b + ¢ = 15 then the value of ab + bc + ca is

afE a2+ b2 +c2 =833 a+b +c =158, arab + bc + ca & AT A1 PISTT ?

Options:
1) 69

2)70
3)71

4) 72
Correct Answer: 71
Candidate Answer: [ NOT ANSWERED ]

Question 59.If ( V3 + 1 )2 = x + V3y , then the value of x + y is

IR (V3+1)2 =x+V3ygrar
X + y & & AT ST ?

Options:
1)2

2)4
3)6

4)8
Correct Answer: 6
Candidate Answer: 6

Question 60.T is a point on the common tangents at P of two circles and if TA and TB are resectively the other tangents at A and B to the two circles drawn from the
point T then

2 geall & P ¥ FAE Felf Y@l ox T vk faeg § 3R T faeg @ @i a1v &) gedl & A 31X B 9 TA 3R TB aen: 31w st Yt @, a«

Options:
1)TA=2TB

2)TA=TB
3)TA=1/2TB

4)3TA=TB
Correct Answer: TA =TB
Candidate Answer: TA =TB

Question 61.In a triangle XYZ , which of the following conditions is true

XYZ feptor 7 frrfof@a 7 & =l o Rufa wdr g 2

Options:
1) XY - YZ > ZX

2) XY + YZ < 2X
3)XY-YZ<XZ

4) XY +2ZX <YZ
Correct Answer: XY - YZ < XZ
Candidate Answer: XY - YZ < XZ

Question 62.If sin (3x - 20°) = cos (3y + 20°), then find the value of (x + y).

Ife sin (3x - 20°) = cos (3y + 20°) T (x + y) F AF AT HST ?

Options:
1) 90°

2) 60°
3) 120°

4) 30°



Correct Answer: 30°
Candidate Answer: [ NOT ANSWERED ]

Question 63.If 1/2 is added to a number and the sum is multipled by 3, the result is 21. Then the number is

afe; el wiEa 3 v St R S 3R R 36 ATter B 3 & T[T BT ST A Seak 21 9IS QT § | HEAT s ?

Options:
1) 6.5

2)5.5
3)45

4) -6.5
Correct Answer: 6.5
Candidate Answer: 6.5

Question 64.The average temperature for Monday, Tuesday, Wednesday and Thursday was 48° . The average temperature for Tuesday, Wednesday, Thursday and
Friday was 52°, If the temperature on Monday was 42°, then the temperature on Friday was (in degrees)

AHIN, FICER, FUAR 3R FETAATR 1 HAT ATTHAIA 48°UT| HITAR, FUAR, FEFITAIR 3R LR T 3T ATTHET 52° AT| Tfe FIAGTR I ATTHA 42° & Al LR
T d#AT (33 #) gase ?

Options:
1) 58

2) 56

3)52

4) 50

Correct Answer: 58
Candidate Answer: 58

Question 65.1f m-n =2, mn =15, (m, n > 0) then the value of (M2 - n2) (m3 - n3) is

FREm-n=2,mn=15, (m, n>0)&ar(m?-n2) (m3 - n3) H A §aBT |

Options:
1) 1856

2) 1658
3) 1586

4) 1568
Correct Answer: 1568
Candidate Answer: 1568

Question 66.If P= 9, Q = V17 then the value of (p2-q2)"1/3is equal to

afP=9,Q= V178 ar (p?-q?) /3 F e e s g 2

Options:
1)4

2) 1/4
3)3

4)1/3
Correct Answer: 1/4
Candidate Answer: 1/4

Question 67.If angles of measure (5y + 62°) and (22° + y) are supplementary , then value of y is

FfE 0T (Sy + 62°) 3T (22° + y) T &1 AT y & AT A hfoTw ?

Options:
1) 16°

2) 320
3)8°

4) 1°
Correct Answer: 16°
Candidate Answer: 16°



Question 68.From the circumcentre I of the triangle ABC, perpendicular ID is drawn on BC. If ZBAC = 60°, then the value of £BID is

15T ABC & 9Reherg; I & BC WX o ID Wi SiielT §1 fe 2BAC = 60° &, @it ~BID &1 &l 311l IS ?

Options:
1) 60°

2) 80°
3) 75°

4) 45°
Correct Answer: 60°
Candidate Answer: 60°

Question 69.
I_Cﬂsﬁ_ orihid EO‘SG_
/ cosf  sinf

then thevalueof (m® + n*)cos® B s

Tfg Zzzgzm 3R :?:gznﬁﬂ' al (m?+n%) cos® Bl AR A HilET 7,

Options:
1) n?
2) m?
3) mn

41
Correct Answer: n?
Candidate Answer: n?

Question 70.The ratio of the weights of two spheres is 8 : 27 and the ratio of weights per 1 cc of materials of two is 8 : 1 . The ratio of the radii of the spheres is

& FeTehi o Tfet T 3TTTTC 8 : 27 § 3T et &y Fall & 9fcl 1 &eT A.A.TTeT 7 INT 8 © 1 &1 Iitofehi T ST T JHfaTel AT HifTC ?

Options:
1) 2:3

2)1:3
3)3:1

4) 3:2
Correct Answer: 1:3
Candidate Answer: [ NOT ANSWERED ]

Question 71.0n a ground , there is a vertical tower with a flagpole on its top . At a point 9 m away from the foot of the tower , the angles of elevation of the top and
bottom of the flagpole are 60° and 30° respectively . The height of the flagpole is

HA o oy Tt o) vk AR o oY o) U el & G S | FAR & el § 9 A gl R R e W aet & @t & o 3N el & STl luT sha:
600 31X 30° | Tt & T Y TS TABT ?
Options:

1)5v3m

5v3 .

2)6v3m

6v3 7.

3) 6v2m

627,

4)6v5m

6v/5 #.

Correct Answer: 6v3 m

63 7.

Candidate Answer: 63 m
6v3 7.



Question 72.Shown below is the multiple bar diagram depicting the changes in the students strength of a college in four faculties from 1990 -91 to 1992 - 93. (scale 1
cm = 100)

Fﬁﬁwagaanalé%mm%l e fonelr sIforeT 7 IR Tehral 7 g 1990-1991 & 1992-1993 Teh fenfaat it Twar & g ater uRads exfiv arv & (AT 1 A7
=100) SEFIT SR TIE T HEFFA Y Td AT o Secl iAC|

E5D
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A regular decrease in student’s strength was in the faculty of

R

AT

=ik

1591 1991-1952

:
;

n
5
=

I Art % Science = Commerce

ore o A eanfiar & gear # Fafia T SR ar Wre ?
Options:

1) Arts

el

2) Science

CEG]

3) Commerce

it

4) Law

fafer

Correct Answer: Arts
hell

Candidate Answer: Arts
el



Question 73.Shown below is the multiple bar diagram depicting the changes in the students strength of a college in four faculties from 1990 -91 to 1992 - 93. (scale 1
cm = 100)

Fﬁﬁwagawalé%mm%l e foelr sIforeT 7 IR Gehrat 7 g 1990-1991 & 1992-1993 des fenfaat it dwar & g ater uRads exfiv arv & (AT 1 A7
=100) SEFIT SR TIE T HEFFeT Y Td AT h Secl AT

ESD
How much percent was the increase in science students in 1992 - 93 over 1990 - 91 ?

R
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=ik

1591 1991-1952

:
;

n
5
=

I Art % Science = Commerce

a¥ 1990-1991 1 eiell & ¥ 1992-1993 # Tar=iiet & et i wem # fhciet wfcier gig gs & 2

Options:
1) 50%

2) 150%
3) 66%%

4) 75%
Correct Answer: 50%
Candidate Answer: 50%

Question 74.Shown below is the multiple bar diagram depicting the changes in the students strength of a college in four faculties from 1990 -91 to 1992 - 93. (scale 1
cm = 100)

Fﬁﬁwagﬂaﬂﬂéﬁmm%l e fonelr hIforsT 7 IR Gehrat 7 g 1990-1991 & 1992-1993 deh fenfaat i Txar & g atel aRads exfiv arv & (AT 1 A7
=100) SEFIT SR TE T HETTA Y Td T9A1 oh Seal ST |

B5D
Ratio of the number of commerce students to the number of law students from 1990 - 91 to 1992 - 93 is
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ATIIHTTTTTTTTRTTNS

1991-1952

:
;

n
5
=

I Art % Science = Commerce

a¥ 1990-1991 & 1992-1993 T a1y o faeaTa hr fafer & faeaniial & a7 3 § ?

Options:
1) 6:7

2)7:6
3) 14:1

4) 2:8
Correct Answer: 7:6
Candidate Answer: 7:6



Question 75.Shown below is the multiple bar diagram depicting the changes in the students strength of a college in four faculties from 1990 -91 to 1992 - 93. (scale 1
cm = 100)

Fﬁﬁwagawwﬁmm%l e foelr sIforeT 7 IR Gehral 7 g 1990-1991 & 1992-1993 deh faenfaat it Twar & g atel uRads exfiv arv & (AT 1 A7
=100) SEFIT SR TE T HEFFeT Y Td AT o Secl AT

E5D
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50
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# Science = Commerce

During which year the strength of arts faculty was minimum ?

S
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g
Y]
=
=
o
o
Pl

e T el TR & faeanfiat i wear wgeTan @ ?

Options:
1) 1990 - 91

2) 1991 - 92
3) 1992 - 93

4) 1993 - 94
Correct Answer: 1992 - 93
Candidate Answer: 1990 - 91

Question 76.In the following question, out of the four alternatives, choose the word which best expresses the meaning of the given word and click the button
corresponding to it.

JUBILANT

Options:

1) SOMBRE

2) DEJECTED

3) JOCULAR

4) REJOICING

Correct Answer: REJOICING

Candidate Answer: [ NOT ANSWERED ]

Question 77.In the following question, out of the four alternatives, choose the word which is opposite in meaning to the given word and click the button corresponding
to it.

COURAGE

Options:

1) BRAVERY

2) WEAKNESS

3) COWARDICE

4) FEAR

Correct Answer: COWARDICE

Candidate Answer: COWARDICE

Question 78.Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word and click the button corresponding to it.
Options:

1) Commensurate

2) Commensarate

3) Commansurate

4) Comansurate

Correct Answer: Commensurate
Candidate Answer: Commensurate

Question 79.In the following questions, one part of the sentence may have an error. Find out which part of the sentence has an error and click the button
corresponding to it. If the sentence is free from error, click the "No error" option.

He was not able to concentrate (A) / because of the continual music (B) / being played next door. (C) / No Error (D)



Options:

1)A

2)B

3)C

4)D

Correct Answer: B

Candidate Answer: [ NOT ANSWERED ]

Question 80.In the following questions, one part of the sentence may have an error. Find out which part of the sentence has an error and click the button
corresponding to it. If the sentence is free from error, click the "No error" option.

Still (A) / waters (B) / run deep. (C) / No Error (D)
Options:

1)A

2)B

3)C

4)D

Correct Answer: D

Candidate Answer: B

Question 81.In the following questions, one part of the sentence may have an error. Find out which part of the sentence has an error and click the button
corresponding to it. If the sentence is free from error, click the "No error" option.

The job is (A) / under the direct (B) / of Mrs Jones. (C) / No Error (D)
Options:

1A

2)B

3)C

4)D

Correct Answer: B

Candidate Answer: [ NOT ANSWERED ]

Question 82.The sentences given with blanks are to be filled with an appropriate word(s). Four alternatives are suggested for each question. For each question,
choose the correct alternative and click the button corresponding to it.

Pour the juice the glass.

Options:

1)in

2) into

3) onto

4) on

Correct Answer: into
Candidate Answer: into

Question 83.The sentences given with blanks are to be filled with an appropriate word(s). Four alternatives are suggested for each question. For each question,
choose the correct alternative and click the button corresponding to it.

I have been this problem since noon.
Options:

1) working into

2) working on

3) working for

4) with after

Correct Answer: working on

Candidate Answer: working on

Question 84.The sentences given with blanks are to be filled with an appropriate word(s). Four alternatives are suggested for each question. For each question,
choose the correct alternative and click the button corresponding to it.

Sushma has a deep for drunkards.
Options:

1) hatred

2) hate

3) hated

4) hating

Correct Answer: hatred

Candidate Answer: hate

Question 85.In each of the questions, four alternatives are given for the Idiom/Phrase. Choose the alternative which best expresses the meaning of the Idiom/Phrase
and click the button corresponding to it.

Couch potato

Options:

1) An old person who has old-fashioned ideas.

2) A person who prefers to watch television.

3) A person who does not seem very friendly.

4) Someone who stays calm and does not show their emotions.

Correct Answer: A person who prefers to watch television.



Candidate Answer: A person who prefers to watch television.

Question 86.In each of the questions, four alternatives are given for the Idiom/Phrase. Choose the alternative which best expresses the meaning of the Idiom/Phrase
and click the button corresponding to it.

Carry the ball
Options:

1) Decorate the ball
2) Be in charge

3) Take the decision
4) Be the hostess

Correct Answer: Be in charge
Candidate Answer: Take the decision

Question 87.In each of the questions, four alternatives are given for the Idiom/Phrase. Choose the alternative which best expresses the meaning of the Idiom/Phrase
and click the button corresponding to it.

Turned down

Options:

1) Subject

2) Object

3) Reject

4) Deject

Correct Answer: Reject
Candidate Answer: Reject

Question 88.0ut of the four alternatives, choose the one which can be substituted for the given words/sentences and click the button corresponding to it.

One who copies from other writers
Options:

1) Pluralist

2) Imitator

3) Plagiarist

4) Copycat

Correct Answer: Plagiarist
Candidate Answer: Imitator

Question 89.0ut of the four alternatives, choose the one which can be substituted for the given words/sentences and click the button corresponding to it.

Thing that can be felt or touched
Options:

1) Pandemic

2) Palpable

3) Paltry

4) Panchromatic

Correct Answer: Palpable
Candidate Answer: [ NOT ANSWERED ]

Question 90.0ut of the four alternatives, choose the one which can be substituted for the given words/sentences and click the button corresponding to it.

The scientific study of elections
Options:

1) Pathology

2) Palaeontology

3) Psephology

4) Philology

Correct Answer: Psephology
Candidate Answer: Psephology

Question 91.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

He enjoys to go on tours with his children.
Options:

1) to go for tours

2) going for tours

3) going on tours

4) No improvement

Correct Answer: going on tours
Candidate Answer: going on tours

Question 92.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

Sita was cooking in the kitchen when her husband was ringing the bell.



Options:

1) would have been ringing
2) had rung

3) rang

4) No improvement
Correct Answer: rang

Candidate Answer: rang

Question 93.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

If the room had been brighter, I would have been able to read for a while before bed time.
Options:

1) If the room was brighter

2) If the room are brighter

3) Had the room been brighter

4) No improvement

Correct Answer: Had the room been brighter
Candidate Answer: Had the room been brighter

Question 94.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

Never such incidents have taken place on our campus.
Options:

1) have such incidents

2) such incidents will have

3) were such incidents

4) No improvement

Correct Answer: have such incidents
Candidate Answer: No improvement

Question 95.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

My mother teach me to be a good human being.
Options:

1) taught

2) thought

3) talked

4) No improvement

Correct Answer: taught
Candidate Answer: taught

Question 96.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

A guest speaker was addressing the faculty and the students in the college auditorium. I had joined the faculty the year before, and was already drawing attention. I
was 27, full of assumptions about myself, quick with a comment on everything, and expected people to pay attention to all that I had said.

I listened to the talk for the first five minutes. By the seventh, I was looking around to check if others were listening. By the tenth, I had glanced at my watch three
times, and yawned once. After twenty minutes I was thoroughly bored, and telling myself that it was difficult to sit through such an insipid talk. I wanted to share
some of my expert comments with my neighbour. But he was completely sold out to the speaker, and looked like it was the greatest day of his life. I was disgusted. I
tried to catch a word or phrase from the talk, only to convince myself that this should be his last talk ever.

The one-hour talk took ages to end, and before the thanks were said, I jumped to my feet with a sigh of relief. My neighbour smiled at me and said, "The talk was
wonderful, wasn't it?" I retorted, "It almost killed me with kindness".

What do you understand about the narrator from the description in the first paragraph?
Options:

1) He was a genius

2) He was knowledgeable

3) He was self conceited

4) He was charismatic

Correct Answer: He was self conceited

Candidate Answer: He was self conceited



Question 97.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

A guest speaker was addressing the faculty and the students in the college auditorium. I had joined the faculty the year before, and was already drawing attention. I
was 27, full of assumptions about myself, quick with a comment on everything, and expected people to pay attention to all that I had said.

I listened to the talk for the first five minutes. By the seventh, I was looking around to check if others were listening. By the tenth, I had glanced at my watch three
times, and yawned once. After twenty minutes I was thoroughly bored, and telling myself that it was difficult to sit through such an insipid talk. I wanted to share
some of my expert comments with my neighbour. But he was completely sold out to the speaker, and looked like it was the greatest day of his life. I was disgusted. I
tried to catch a word or phrase from the talk, only to convince myself that this should be his last talk ever.

The one-hour talk took ages to end, and before the thanks were said, I jumped to my feet with a sigh of relief. My neighbour smiled at me and said, "The talk was
wonderful, wasn't it?" I retorted, "It almost killed me with kindness".

How did the narrator respond to the speech?
Options:

1) He was glued

2) He was bored

3) He did not mind it

4) He was engrossed in it

Correct Answer: He was bored
Candidate Answer: He was bored

Question 98.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

A guest speaker was addressing the faculty and the students in the college auditorium. I had joined the faculty the year before, and was already drawing attention. I
was 27, full of assumptions about myself, quick with a comment on everything, and expected people to pay attention to all that I had said.

I listened to the talk for the first five minutes. By the seventh, I was looking around to check if others were listening. By the tenth, I had glanced at my watch three
times, and yawned once. After twenty minutes I was thoroughly bored, and telling myself that it was difficult to sit through such an insipid talk. I wanted to share
some of my expert comments with my neighbour. But he was completely sold out to the speaker, and looked like it was the greatest day of his life. I was disgusted. I
tried to catch a word or phrase from the talk, only to convince myself that this should be his last talk ever.

The one-hour talk took ages to end, and before the thanks were said, I jumped to my feet with a sigh of relief. My neighbour smiled at me and said, "The talk was
wonderful, wasn't it?" I retorted, "It almost killed me with kindness".

The narrator was disgusted because

Options:

1) His neighbour was engrossed in an insipid talk

2) The talk was boring

3) He could not understand it

4) He was impatient

Correct Answer: His neighbour was engrossed in an insipid talk
Candidate Answer: He was impatient

Question 99.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

A guest speaker was addressing the faculty and the students in the college auditorium. I had joined the faculty the year before, and was already drawing attention. I
was 27, full of assumptions about myself, quick with a comment on everything, and expected people to pay attention to all that I had said.

I listened to the talk for the first five minutes. By the seventh, I was looking around to check if others were listening. By the tenth, I had glanced at my watch three
times, and yawned once. After twenty minutes I was thoroughly bored, and telling myself that it was difficult to sit through such an insipid talk. I wanted to share
some of my expert comments with my neighbour. But he was completely sold out to the speaker, and looked like it was the greatest day of his life. I was disgusted. I
tried to catch a word or phrase from the talk, only to convince myself that this should be his last talk ever.

The one-hour talk took ages to end, and before the thanks were said, I jumped to my feet with a sigh of relief. My neighbour smiled at me and said, "The talk was
wonderful, wasn't it?" I retorted, "It almost killed me with kindness".

When the speech ended the narrator was
Options:

1) Happy

2) Relieved

3) Exhausted

4) Disgusted

Correct Answer: Relieved

Candidate Answer: Relieved



Question 100.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives
and click the button corresponding to it.

A guest speaker was addressing the faculty and the students in the college auditorium. I had joined the faculty the year before, and was already drawing attention. I
was 27, full of assumptions about myself, quick with a comment on everything, and expected people to pay attention to all that I had said.

I listened to the talk for the first five minutes. By the seventh, I was looking around to check if others were listening. By the tenth, I had glanced at my watch three
times, and yawned once. After twenty minutes I was thoroughly bored, and telling myself that it was difficult to sit through such an insipid talk. I wanted to share
some of my expert comments with my neighbour. But he was completely sold out to the speaker, and looked like it was the greatest day of his life. I was disgusted. I
tried to catch a word or phrase from the talk, only to convince myself that this should be his last talk ever.

The one-hour talk took ages to end, and before the thanks were said, I jumped to my feet with a sigh of relief. My neighbour smiled at me and said, "The talk was
wonderful, wasn't it?" I retorted, "It almost killed me with kindness".

How long did the narrator listen to the speech without judgement?
Options:

1) Seven minutes

2) Ten minutes

3) Five minutes

4) Twenty minutes

Correct Answer: Five minutes

Candidate Answer: Five minutes



